
7.1
181

DEFLECTOR ATTACHMENT
RIVETNUT FOR M6 BOLT

OPTIMIZER BRACKET 
ATTACHMENT FOR M6 BOLT

DEFLECTOR SEAT

 A 

2.0
51

1.4
35

BASE ATTACHMENT HOLE
FOR M6 BOLT

RAIL ATTACHMENT
RIVETNUT FOR M6 BOLT

CAM BRACKET AND BASE 
ATTACHMENT SLOT FOR M6 BOLT

MODULE CONNECTOR, 5 DEGREE, CFR

OPTIONAL RAIL ATTACHMENT
RIVETNUT FOR M6 BOLT

PART NUMBER DESCRIPTION DIM "A"
inch[mm] 

WEIGHT
kg/lb

MODULE WIDTH
mm

C500052301  MODULE CONNECTOR, 1030, 5D, CFR 43.31[1100.0] 0.59/1.30 990 - 1030

C500052302 MODULE CONNECTOR, 1070, 5D, CFR 44.88[1140.0] 0.61/1.34 1031 - 1070

C500052303 MODULE CONNECTOR, 1110, 5D, CFR 46.46[1180.0] 0.62/1.38 1071 - 1110

C500052304 MODULE CONNECTOR, 1150, 5D, CFR 48.03[1220.0] 0.64/1.41 1111 - 1150

C500052308 MODULE CONNECTOR, 1310, 5D, CFR 54.33[1380.0] 0.71/1.56 1270 - 1310

Rev:SHEET   OF   1 3 CS-2

PRODUCT CUT SHEET



1

4

3

2

4
4

 A 

1) MODULE CONNECTOR, CFR

1.14
28.9

6.83
173.5

1.21
30.71.36

34.6

2) TILT ARM, 5D, CFR

1.53
38.8

1.54
39.2 1.03

26.2

3) LOCK CLAW, CFR

1.11
28.3

.25
6.4

.40
10.1

5) RIVET, 1/4"x .25"L, .020-.125 GRIP, ST

.50
12.7 .37

9.5

.61
15.6

4) RIVET, 1/4"X.50"L, .126-.250 GRIP, ST

.51
13.0

M6 X1.0
THREAD

MODULE CONNECTOR, 5 DEGREE, CFR

MATERIAL STEEL
FINISH ZINC-ALUMINUM-MAGNESIUM, ZINC,

ITEM NO. DESCRIPTION
1 MODULE CONNECTOR, CFR
2 TILT ARM, 5D, CFR
3 LOCK CLAW, CFR
4 RIVETNUT, HEX, M6X1.0, ST
5 RIVET, 1/4"x .25"L, .020-.125 GRIP, ST

Rev:SHEET   OF   2 3 CS-2

PRODUCT CUT SHEET



34.52
876.7

40
1016  A 

MODULE CONNECTOR, 5 DEGREE, CFR
PACKAGING INFORMATION

ITEM 1 PART NUMBER DESCRIPTION DIM (A) IN INCHES UNIT QTY. EST. FULL PALLET WEIGHT

70-00339 MODULE CONNECTOR, 1030, 5D, CFR 
(ASSEMBLY) 48.0 500 700

70-00340 MODULE CONNECTOR, 1070, 5D, CFR 
(ASSEMBLY) 51.0 500 720

70-00341 MODULE CONNECTOR, 1110, 5D, CFR 
(ASSEMBLY) 54.0 500 740

70-00342 MODULE CONNECTOR, 1150, 5D, CFR 
(ASSEMBLY) 57.0 500 755

70-00343 MODULE CONNECTOR, 1310, 5D, CFR 
(ASSEMBLY) 70.0 500 830

Rev:SHEET   OF   3 3 CS-2

PRODUCT CUT SHEET




